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QD:1-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Rrafefaa uw & Ry o Reeat & ¥ uw Rg
(?) & FASF W A ael FEA H |

2|3 |7 |17
5|6 |8 |7
716 |3 |27

Options:
1) 40

2) 42
3) 46

4) 58
Correct Answer: 46
Candidate Answer: [ NOT ANSWERED |

QID:2-

How many rectangles are there in the given figure?

& o pfa F fraa amwa ¥2

Options:
1)3

2) 4
3)5

4)6
Correct Answer: 4
Candidate Answer: 3
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘C’ can
be represented by 13, 68, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have to identify the set for the word “RACE”.

T eq dhadl Th TEIT-0IfE SRT G a1 @, ofar 76 fadedl & &
Rl T & Toam T &1 Aweur # By 9w HEar-wep IR & ar et
TR gRifw 1w §, ol 75 Bu are o ameqpt A R e & waew 3R
O & TEAT 0 & 4 § IR IngEN D 5 | 91 3T IYH § TH IR
A uge sEM uf IR ag # TaFd TE g iR ST a@har ¥
serAor & faw ‘c' @ 13, 68 1T arT gifar S @ ¥ aur ‘N’ @t 04,
89, afe arr geffar o @aar ¥ 3 aRE @ U um A Ru g
“RACE” & fow @ep # ugaEa 21

Matrix-I Matrix-il

Il Jegg-il

0[1]2[3]4 5(6|7([8]9
O|F|E[K|O|N SIM|E|Z|S|T
1|{P[M|A|C|T 6|Z|K[F|C|Z
2(Z|1G[(W|1|Q 71L(QfZ|Y|D
3|ID|F|A|L|R 8|A|E|IT]|S|N
4 (01 [|S|P|X 9|1Q|(R|T|R| I

Options:
1) 34,32,02, 56

2) 96, 86, 97, 98
3)98,12,13, 01

4) 23, 89, 68, 23
Correct Answer: 98, 12, 13, 01
Candidate Answer: 98,12, 13,01

QID:4-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 775 3R IFfadl F W 3W I AP A g
Sw & o gl @fea B
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Options:
1

4

Correct Answer:

N

Candidate Answer:

A

QID:5-
Which answer figure will complete the pattern in the
question figure?

=

Fig @ 3R FPA wH FPd & AT B @
HIIN?

R\
e

'Q\.\V
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Options:
1

\v
N

\l‘,’

>

w
-

\3

<

Correct Answer:

N

Candidate Answer:

2

QID:6-

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T SUUT AT AB [T W IW@T AT, ar & T
IR HPfaar A B did @ dpla vy FHa &
e ufafess @efr?

A B
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Options:
1

2)

3)

4

Correct Answer:

Candidate Answer:

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

R & oy Igplaal # REmw 3gar wee @
AEH Dead JUT Wil & dIg ag g 3R HTHIA
St fearg gam?

Ik
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Options:
1

O

2)

w
~

) 1) [©

4

=

Correct Answer:

)

Candidate Answer:

(2)

QID : 8 - If 'A'means '+, 'B' means 'x', 'C' means '+' and 'D' means ', then
53A2D39C3B2="?
It A T 372 '+, 'B' a1 31 X', 'C' et 31k '+ quT D' bt oref ' g, it

53A2D39C3B2=7?
Options:

Correct Answer: 29
Candidate Answer: 29

QID:9-1f4B3B2=423and6B0B 1=610,then
9B1B4=?
af¢4B3B2=423du6B0B1=6108,dt

9B1B4=?

Options:

1) 149

2) 194

3) 941

4) 419

Correct Answer: 941
Candidate Answer: 941
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QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Soup
2. Sour
3. Song
4. Some
5. Solid

e el areaahtar & S aTet 3 & SR ford |

1. Soup
2. Sour
3. Song
4. Some
5. Solid

Options:
1) 53421

2) 54312
3) 53412

4) 54321
Correct Answer: 54312
Candidate Answer: 53412

QID : 11 - In the following question, select the missing number from the given series.
3,7,15,31,?
fafafea vy 7 Ry 7 el & @ qua sie 71 fifsg

3,7,15,31,?
Options:

1) 62

2) 63

3) 94

4) 93
Correct Answer: 63
Candidate Answer: 63

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FH?,0Q,TX
e arger feram v 8, fore @ gan v g 81 fog g fareredt & @ a5 @t faeed g, St srgerd @t g AR

FH?0QTX
Options:

Correct Answer: K
Candidate Answer: L

QID : 13 - In the following question, select the odd word from the given alternatives.

fafafea vy 8 Ry 7y et & @ v g &t gfg)
Options:

1) Fan

erc)

2) Cooler

FHR
3) Air

ag

4) Air Conditioner

CIGIGETED

Correct Answer: Air

ag

Candidate Answer: Air Conditioner

EIGIGCED
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QID : 14 - In the following question, select the odd number pair from the given alternatives.

frfafea wer & Ry 1y foredt & § fowm @@ gw at gkl
Options:

1)6-217

2)5-126

3)7 - 344

4)9-728

Correct Answer: 9 - 728

Candidate Answer: 9 — 728

QID : 15 - In the following question, select the odd letters from the given alternatives.

frafafea vy § Ry g e § @ faws sreri ot gfg)
Options:

1) DG

2) KN

3)sw

4) QT
Correct Answer: SW
Candidate Answer: SW

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Pencil, Rubber, Stationery
I ARG A St A &g 7Q T o fie o Hefy a1 el AT et g1

U8, TR, S anwft
Options:

1)

OO
O

©)o

3)

@p

4

Correct Answer:

Candidate Answer:

©o
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QID : 17 - In the following question, select the related word from the given alternatives.
Blue : Colour : : Scooter : ?
fafafea vy § Ry 7y et & @ 96fda g ot gg

Hem: @ wgpeR:?
Options:

1) Motor

Hlex

2) Vehicle
argd

3) White
Tthg

4) Medium
GICEE

Correct Answer: Vehicle
arg

Candidate Answer: Vehicle

aret

QID : 18 - In the following question, select the related number from the given alternatives.
7:49::11:?

frafafea v & Ry 7y foeedt & § wefda g &t gfg

7:49::11:?

Options:

1) 121

2) 131

3) 211
4)141

Correct Answer: 121
Candidate Answer: 121

QID : 19 - In the following question, select the related letters from the given alternatives.
RAT:UDW::CUP:?

frafafea v & Ry g e § & T6fda e at gfhgl

RAT:UDW::CUP:?

Options:

1) FXS

2) FXT

3) FYS

4) GXS
Correct Answer: FXS
Candidate Answer: FXS

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
CREATION

fafafed el d @ ag e g St iR 71Q <ree & S1arRY o1 TRIRT ek 8T ST ST FehdT|

CREATION

Options:

1) REACT

2) RAID

3) RATION

4) ATE
Correct Answer: RAID
Candidate Answer: RAID

QID : 21 - Raman is 18t from left end in a row. If there are total 38 boys, then what is his position from right end of the row?

T Uk Ufh 9T BR @ 18-af 21 ok UfRE 7 gt 38 Tgh &, a IUH W I SR @ T 82
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Options:
1) 20

2) 21
3)19

4) 22
Correct Answer: 21
Candidate Answer: 21

QID : 22 - Sum of present ages of A and B is 47 years. After 5 years, there ages will be in ratio 8 : 11. What is the present age (in years) of A?

A TIT B I IFH ST AT ANT 47 a8 g1 5 T UsTd, ITeh! AT 8 - 11 & SUTd & gt I A i I S (st #) arm 82
Options:

119

2)20

3)24

4) 25
Correct Answer: 19
Candidate Answer: 19

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
|. Some pencils are pens.
II. All pens are cups.

Conclusions:
I. Some cups are pencils.
Il. Some pens are pencils.

2 Ry g usr § $o U ok I a1 I wYE! W SeTiRd §© ey Ry g &, g1eife 3 I 71a a2t § e g uehdt 81 aft s ug ofik o FefRa = ok Ry g =
G feend, R 7TQ el & SR W gRAGT &1

hY-:

|. 3 Ul &erm 8l

1. gt T &y &

fAree:

|. $® U U 81

Il. T et U &1

Options:

1) Only conclusion (1) follows.

haet s (1) Tt 21

2) Only conclusion (Il) follows.

et e (Il) T &

3) Both conclusion follow.

2t gt e wiet €1

4) Neither conclusion (I) nor conclusion (Il) follows.
Tt s (1) 7 8 Feen (1) € 81

Correct Answer: Both conclusion follow.
21t gt e w8l €1

Candidate Answer: Both conclusion follow.

21 g1 e Tt €1

QID : 24 - In a certain code language, "STRAIN" is written as "HGIZRM". How is "FRONT" written in that code language?

U fAfr® s umar &, "STRAIN" &t "HGIZRM" forar STraT 81 39 hts o7 & "FRONT" &l fohg UehR ferar staem?

Options:
1) GSIZM

2) GLMIU
3) UILMG

4) UFDXC
Correct Answer: UILMG
Candidate Answer: UILMG

QID : 25 - In a certain code language, "TALL" is written as "50" and "TRIM" is written as "65". How is "TILE" written in that code language?

U fAf® e umar &, "TALL" &t "50" a1 "TRIM" &t "65" foar SIrdT &1 59 i aroT & "TILE" o) fohg R forar s

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:
1) 50

2) 51
3) 52

4) 49
Correct Answer: 51
Candidate Answer: 51

QID : 26 - What is the highest common factor of 12, 15 and 45?

12, 15 T 45 &1 Hg<H FHTE e T 57
Options:

14

2)3

3)5

4)10

Correct Answer: 3

Candidate Answer: 3

QID : 27 - Which of the following statement(s) is/are true?

1. (11/14) > (7/13)
1. (16/9) > (17/11)

frafafea & & o 9/8 Fo g /87

1. (11/14) > (7/13)
1. (16/9) > (17/11)
Options:

1) Only |

haet |

2) Only Il
FHad Il

3) Both land Il
| 2T 1l g

4) Neither | nor Il
Fariagi

Correct Answer: Both | and Il
| T 1l &

Candidate Answer: Both | and Il
| T |l g

QID : 28 - What is the value of (4.3 +3.1)2 - (4.3 - 3.1)%?

(4.3+3.1)2- (4.3 -3.1)2 @1 a2

Options:

1) 53.32

2) 26

3) 27.19

4) 28

Correct Answer: 53.32
Candidate Answer: 53.32

QID : 29 - What is the simplified value of [(v6 = v4) = (V6 + v4)]?

[(v6 - v4) = (V6 + v4)] &1 TRefigpd 714 T 82
Options:

1) 5+v24

2) 6 - 3v24

3)5- 2v24

4)5-v24

Correct Answer: 5 — V24

Candidate Answer: 5 - v24

QID : 30 - Which of the following statement(s) is/are true?

1. 73 is a composite number.
Il. There are 6 numbers between 1 to 120 which are divisible by 3 and 9.

frfafea 3 & o a/8 s g 5/8?

1. 73 Qeh Sg<h SE=AT gl
1. 1 9 120 & s 3 9uT 9 @ fArursa g aret 6 T=ad &1
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Options:
1) Only |
et |

2) Only Il
FHad Il

3) Both land Il

| 2 11 gt

4) Neither | nor Il
FAlag

Correct Answer: Neither | nor Il
Faiagil

Candidate Answer: [ NOT ANSWERED ]

QID : 31-If A = 4% x 52 and B = 54 x 43, then what is the value of (A x B)?

g A= 4%x 52 U1 B = 5% x 43 §, &t (A x B) &1 A T 82
Options:

1) 49 56

2) 418 58

3) 512 ~8

4) 458

Correct Answer: 49 50

Candidate Answer: 49 5°

QID : 32 - L alone can do a work in 100 hours. M alone can do the same in 150 hours. L, M and N together can do the same work in 30 hours. In how many hours can
N alone do the work?

L Qeh & ehl 31chedT 100 & H & ehdT &1 M ST el et 3rehetT 150 62 # e FehdT &1 L, M dam N fAicTen 3T i &l 30 € 7 o Gehd &1 N 31chell I 1y aht fohde ¢ & & Jehal
7

Options:

Correct Answer: 60
Candidate Answer: 60

QID : 33 - Two pipes P and Q can fill the tank alone in 120 and 80 hours respectively. If they are opened together, then in how many hours will the tank be filled?

S g1$g P 21T Q Teh &hl Y shAsl: 120 a1 80 € # ¥R Tohd &1 I 1 UTSul ahl Uep @1y Wiet fea oima, af &Y foham € & oR Smanft?
Options:

Correct Answer: 48
Candidate Answer: 48

QID : 34 - What is the area (in cmz) of a triangle having sides 15 cm, 8 cm and 17 cm?

15370, 8 .7f). qar 17 .7, oo aret FHoget ot Sther (3712 F) 82

Options:

1) 75

2) 60

3) 120

4) 90

Correct Answer: 60
Candidate Answer: 60

QID : 35 - A merchant purchases a watch for Rs 525 and fixes its marked price in such a way that after allowing a discount of 25%, he earns a profit of 10%. What is
the marked price (in Rs) of the watch?

Ueh SATIRY 525 % H Teh T2 @iadT & dT 39ah Sifthd go0 39 avg MuffRa awar & fF 25% 6t ge 33 & ugra oft I3 10% o1 a1 U g)ar 81 9t o1 siftha 7er (3 ) &2

Options:

Correct Answer: 770
Candidate Answer: 770

Download More Papers From GovtJobsAlert.In



Download More Papers From GovitdJobsAlert.In

QID : 36 - Pankaj bought a chair with 21% discount on the marked price. Had he bought it with 23% discount, then he would have saved Rs 70. At what price (in Rs)
did Pankaj bought the chair?
Yehol Yeh G ohl 3ch Sifohd Hed TR 21% &1 Pe & 919 T@adT 81 fS IT 23% e o 1Y @Gl giaT df I8 70 T ol 9 giet | Uehot = fohd Jed (T ) TR Hel ol @iar ur?

Options:
1) 2705
2) 2815
3) 2695
4) 2765

Correct Answer: 2765
Candidate Answer: 2765

QID:37-IfA:B=3:1andA:C=7:4,then whatis (A+B):(B+C)?

afA:B=3:1dMA:C=7:48, A (A+B):(B+C)wng?

Options:

1)28:19

2) 56:37

3)19:28

4)29:6

Correct Answer: 28: 19
Candidate Answer: 28 : 19

QID : 38 - If the sum of two numbers is equal to eight times of their difference, then what is the ratio of the numbers?

I &t Tl ot INT Ik SiaR & 31T THT & SRTeR &, JF Tenaif o SIuTd R 87
Options:

Correct Answer: 9:7
Candidate Answer: 9 :7

QID : 39 - The average weight of a class is 52 kg. If a student with weight 118 kg. joins the class, then new average weight becomes 58 kg. How many total students
are there in the class?

ek el T 3fed WR 52 fh.am. 81 afe ues 118 f36.71. 9IR aren o131 shem & mfdet gt S, |t 7ar Siea WR 58 6.7, 8t Siram &1 her & et fohast o191 82
Options:

Correct Answer: 10
Candidate Answer: 10

QID : 40 - A man buys a fan for Rs 30 and sells it for Rs 36. What is his gain percent?

ek fth Teh U1 30 T H WRIGdT & aUT 34 36 T H sadT g | ITehT A1 Ufasrd & g2
Options:

Correct Answer: 20
Candidate Answer: 20

QID : 41 - If apples are bought at the rate of 8 for a rupee, then how many apples must be sold for a rupee so as to gain 14.28%?

gfe U vud § 8 &Y e § 9 @S Y, A Ueh w0 H fohe= S e gt arfeh 14.28% b1 19 81?7
Options:

Correct Answer: 7
Candidate Answer: 7

QID:42-Pis 60% less than Q. Q is 50% more than R. R is 20% more than S. If S is 1500, then what is the value of P?

PQ3a60% A2 Q,R¥50% 3 &I R, S & 20% 31fdres g1 afe S, 1500 &, Y P o &1 Rm &2

Options:
1) 1240
2) 1080
3) 1140
4) 960
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Correct Answer: 1080
Candidate Answer: 1080

QID : 43 - In a regiment 45% soldiers are commanders. If the number of commanders is 6750, then what is the total number of soldiers in the regiment?

e e F 45% fie haTeR 81 afe HaTedt it I 6750 §, af Iore & dfent st ot T T 872

Options:
1) 15000
2) 17500
3) 18000
4) 16000

Correct Answer: 15000
Candidate Answer: 15000

QID : 44 - The downstream speed of a boat is 85 km/hr and the speed of current is 10 km/hr. What is the total time (in hours) taken by the boat to cover 130 km
upstream and 170 km downstream?

foreft mar &7 et T & St 85 fon. Y. /gier & T e &t fey 10 5. /gier €1 oy & faudia 130 fon. Y. e T & srge 170 fh. . &t ot 79 &t & 71a g1 gt fee 1
(eret #) foran mar?
Options:

Correct Answer: 4
Candidate Answer: 4

QID : 45 - A man goes to a place at a speed of 70 km/hr and comes back with a different speed. If the average speed is 17.5 km/hr, then what is the return speed (in
km/hr)?

ek etk 70 fop ot /der Y iy & foreft uen T oR STt & e Ues 9 7ifa @ arow emmar &1 3 sftwa wifa 17.5 5wt /der €, &t arow enat we wifay (6 Y. /5ier B) s 82
Options:

1)12

2)52.5

3)10

4)20

Correct Answer: 10

Candidate Answer: 10

QID : 46 - What is the compound interest (in Rs) on a sum of Rs 12000 for 2 years at the rate of 5% per annum compounded annually?

12000 ¥ & FeTeH TR 5% &t a1fifer & W a1ffer Gater & 2 auf ol Fshgfg Tt (T ) o1 82

Options:

1) 1250

2) 1200

3) 1230

4) 1300

Correct Answer: 1230

Candidate Answer: 1230
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The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, S
and T. The total number of students is 300.

i T s g Ry # 5 fRfdea At
P.Q R, STNT H ATHGT Hid aTar BT T
HEIT Hr gefar AT g1 o $ For wE&ar 300 g

T, 102° P 108°

S, 60°
Q, 54°

R, 36°

What is the combined number of students enrolled in subject T and P?

w2 T qum P # e &t a1el o1 <hl SY<h et &R 87
Options:

1) 175

2) 105

3)54

4) 210

Correct Answer: 175

Candidate Answer: 175

QID:48-

The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, S
and T. The total number of students is 300.

i e s g Ry # 5 fRfeea At
P,Q R,STAM T H ATATFT 3t It SIEr Hr
HEIT Fr gefar AT g1 o $ For wEar 300 g

T, 102° P, 108°

S, 60°
Q, 54°

R, 36°

What is the difference between the number of students enrolled in subject S and P?

fao S auT P & AT o dTet BT chl TRET oh 37 T 87
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Options:

1) 24

2) 60

3) 40

4)48

Correct Answer: 40
Candidate Answer: 40

QID: 49 -

The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, S
and T. The total number of students is 300.

i e siv g Ry & 5 fRfdea At
P,Q R,STAM T H ATATHT It arat SIEr Hr
HEIT Fr gefar AT g1 o i For wE&ar 300 g

T, 102° P 108°

S, 60°
Q, 54°

R, 36°

How many students are enrolled in subject Q and T together?

faw Q qu T & e foha= &1 3 A fhar 82
Options:

Correct Answer: 130
Candidate Answer: 130
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The pie chart given below shows the number of
students enrolled in 5 different subjects P, Q, R, S
and T. The total number of students is 300.

i T s g Ry # 5 fRfdea At
P,QR, ST T H ATHGA T arer ST Hr
HEIT Hr gefar AT g1 o $ For wE&ar 300 g

T, 102° b 108°

S, 60°
Q, 54°

R, 36°

The combined number of students enrolled in subject S and R is what percent of that of subject T?

fawg S quT R # AT et aTet BT i TY<h ST, fawa T a1 fohar ufasra 82

Options:

1) 96.43

2) 102

3)6

4) 94.11

Correct Answer: 94.11

Candidate Answer: 94.11

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Lack of indiscipline (1)/ is ailing the (2)/ present day education system (3)/ No Error (4)
Options:

Correct Answer: 4
Candidate Answer: 4

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

A scared image (1)/ was being carried (2)/ to the temple (3)/ No error (4)
Options:

Correct Answer: 1
Candidate Answer: 3

QID : 53 - In the following question, the sentence is given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Rohan has always been enthusiast when it comes to travel.

Options:

1)a

2) an

3) the

4) No option is correct
Correct Answer: an

Candidate Answer: an
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QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

My grandmother brought me
Options:

1)a

2) an

3) the

4) No option is correct
Correct Answer: the

Candidate Answer: the

best present ever.

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Congenial
Options:

1) Displeasing
2) Favourable
3) Grumpy

4) Shabby

Correct Answer: Favourable
Candidate Answer: Favourable

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Abstain
Options:

1) Refrain
2) Ingest

3) Take in
4) Consume

Correct Answer: Refrain
Candidate Answer: Refrain

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Abdicate
Options:

1) Join

2) Search
3) Abandon
4) Advance

Correct Answer: Abandon
Candidate Answer: Abandon

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Traditional
Options:

1) Meekness

2) Modern

3) Conventional
4) Conservative

Correct Answer: Modern
Candidate Answer: Modern

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Predecessor

Options:

1) Processor

2) Successor

3) Professor

4) Dresser

Correct Answer: Successor

Candidate Answer: Successor

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Flicker
Options:

1) Quiver

2) Burn steadily
3) Deformity

4) Presage

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Correct Answer: Burn steadily
Candidate Answer: Quiver

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Best of both worlds

Options:

1) Having all the advantages

2) Having all the disadvantages

3) Having fun

4) Having trouble

Correct Answer: Having all the advantages

Candidate Answer: Having all the advantages

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In the teeth of
Options:

1) Real cause
2) In the face of
3) In the end

4) To chase

Correct Answer: In the face of
Candidate Answer: In the face of

QID : 63 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "'no improvement".

| follow a (plan of never expecting) much from anyone.

Options:

1) plan of not expecting
2) policy of ever expecting
3) policy of not expecting
4) No improvement

Correct Answer: policy of not expecting
Candidate Answer: [ NOT ANSWERED ]|

QID : 64 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement is
needed, select "no improvement".

He has said so out of affection, do not take (it to heart).
Options:

1) in heart

2) by the heart

3) itin the heart

4) No improvement

Correct Answer: No improvement
Candidate Answer: by the heart

QID : 65 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

one who has or displays a quick and delicate appreciation of others' feelings.
Options:

1) Singer

2) Sincere

3) Sensitive

4) Selective

Correct Answer: Sensitive
Candidate Answer: Sensitive

QID : 66 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

repeatedly committing the same offence and typically following a characteristic, predictable behaviour pattern
Options:

1) Cereal

2) Serial

3) Sign

4) Sick

Correct Answer: Serial

Candidate Answer: Cereal

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
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1)psliz;r11$a'ge

2) Sigage

3) Sighnage

4) Cighnage

Correct Answer: Signage

Candidate Answer: [ NOT ANSWERED ]

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Fulfilment

2) Fullfillment

3) Fullfilment

4) Fulfillment

Correct Answer: Fulfilment
Candidate Answer: Fullfilment

QID : 69 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options

One must

P- with the

Q- change

R- changing times
Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: QPR
Candidate Answer: QPR

QID : 70 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options

Hina

P- the eighth standard
Q- with flying colours
R- passed her
Options:

1) QRP

2) RPQ

3) PQR

4) QPR

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 71 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if people had of money, they would be , and get more out
of life. As arule there ______ more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

People moan about poverty as a great
Options:

1) aiding

2) benevolent

3) evil

4) moral

Correct Answer: evil

Candidate Answer: evil

QID : 72 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great and it seems to be an accepted belief that if people had of money, they would be , and get more out
of life. As arule there ______ more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man in the palace of rich
men, who are attended by servants and governesses at a later stage.

if people had of money,
Options:

1) lack

2) want

3) scarcity

4) plenty

Correct Answer: plenty

Candidate Answer: lack

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 73 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great
of life. As a rule there more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man
men, who are attended by servants and governesses at a later stage.

and it seems to be an accepted belief that if people had of money, they would be , and get more out
in the palace of rich

they would be, , and get more out of life.
Options:

1) depressed

2) miserable

3) happy

4) sad

Correct Answer: happy

Candidate Answer: depressed

QID : 74 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great
of life. As a rule there more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man
men, who are attended by servants and governesses at a later stage.

and it seems to be an accepted belief that if people had of money, they would be , and get more out
in the palace of rich

As arule there
Options:

1) are

2) were

3) have

4)is

Correct Answer: is
Candidate Answer: is

more genuine satisfaction in life

QID : 75 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

People moan about poverty as a great
of life. As a rule there more genuine satisfaction in life and more is obtained from life in the humble cottage of the poor man
men, who are attended by servants and governesses at a later stage.

and it seems to be an accepted belief that if people had of money, they would be , and get more out
in the palace of rich

more is obtained from life in the humble cottage of the poor man
Options:

1) rather

2) there

3) those

4) than

Correct Answer: than

Candidate Answer: than

in the palace of rich men

QID : 76 - Sarva Shiksha Abhiyan provides elementary education to all children in the age groupof ________ years.

o4 fRvem sifva= 9 & oy 7t & T+t Sl Rt urafies et ye whear 81

Options:

1) 4 to 8 years

4% 89

2) 6 to 14 years

69 14 91

3) 14 to 17 years
14% 17 9

4) No option is correct

Correct Answer: 6 to 14 years
63 14 91

Candidate Answer: 6 to 14 years
69 14 91t

QID : 77 - National Food for the Work Programme was launched in the year of in 150 most backward districts of India.

"M & Ted HSH AT HRGA AN ____ H ¥R & 9a9 [Uss 150 et # & fovar mar e
Options:

1) 2000

2) 2002

3) 2004

4) 2006

Correct Answer: 2004

Candidate Answer: [ NOT ANSWERED |
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QID : 78 - Which of the following writ is issued to a government servant to prevent such action, which is not his right to do?

el TR FFa) o IS ShriaTE it ke o foTg, Fore 38 v o 1t T8t 8, frefaifara # € st & Re ot ok Smam 27

Options:
1) Certiorari
C

2) Habeas Corpus

& TrefieReo

3) Mandamus

TRHTRRT

4) Quo-Warranto

SRR geaT

Correct Answer: Quo-Warranto

SRR geaT

Candidate Answer: Mandamus
T

QID : 79 - The right to property is a right.
JuliawrofdepR U Sifder gl

Options:

1) legal

2) fundamental
3) natural

4) No option is correct
Correct Answer: legal

Candidate Answer: legal

QID : 80 - Which one of the following was not a common feature of major cities of Indus Valley Civilization?

fafafea § @ aF W ge faivar Ry o1&t weadn & e a3 &t Ue 9T fasivar gt o2

Options:

1) Town planning
IR

2) Use of burnt bricks
TS $2 Rl IT/NT

3) Irrigation canals
&g & el

4) Fortified citadel
g 1g

Correct Answer: Irrigation canals

Candidate Answer: Irrigation canals

g i 7
QID : 81 - What was Sher Shah's childhood name?

SRR & SO <hT ATH T AT?

Options:
1) Hussain Ali
a7t

2) Hasan Khan

gga @f

3) Farid Khan

g @t

4) No option is correct

Correct Answer: Farid Khan

@i
Candidate Answer: Farid Khan

e @t

QID : 82 - What is the "Sea of Tranquillity"?

ot it gifRTE a0 2
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ptions:

1) A tranquil wave of Atlantic Ocean
37¢] HGRATR h T AT ERT

2) A spot on the Sun

T 1 ok e

3) A part of the Moon

TTe & Yo foedm

4) No option is correct

I frchey TEl e &

Correct Answer: A part of the Moon
qig Pl Y

Cwemdidate Answer: A part of the Moon
Tl oI en foeam

QID : 83 - What is 'Roaring Forties"?

"TRSTT ATl R 82

Options:

1) Strong westerly wind of North Hemisphere
&Y e gar

2) Strong westerly wind of South Hemisphere

Sieroft Mol A a7 i Y T gar

3) Snowstorm of Arctic region

3Tehieeh

&3 T TRTT JHH
4) Snowstorm of Antarctic region

SITThICh & T TR JhA

Correct Answer: Strong westerly wind of South Hemisphere

Efaroft memef A I i hr T gar

Candidate Answer: Strong westerly wind of North Hemisphere

I TTtenef <t T fa i uge gar

QID : 84 - Which of the following organelle is not found in human cheek cells but it is present in onion cells?

fafafea § o a1 ge shres a7 &Y e i HfAent 7 7€ T STrar 8, @R T i et § Sufedd gar 82

Options:

1) Cell wall
ifAmr fAfy
2) Cytoplasm
AT 5T
3) Nucleus

4) Plasma membrane
AT et

Correct Answer: Cell wall
Rl

Candidate Answer: Plasma membrane
ATSHT
QID : 85 - Which of the following is called 'Amphibians of Plant Kingdom'?

fFrafafea & 9 RS 'u1ey ST o1 IWT=R' Tl STTaT 87
Options:
1) Bryophytes

2) Algae

et

3) Pteridophytes

RewIEE

4) Gymnosperms

or=as

Correct Answer: Bryophytes

Candidate Answer: Algae
et

QID : 86 - Which one of the following disease is a communicable disease?

frafafea A d & & a1 g dehmofta g2
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ptions:
1) Marasmus

2) Cholera

&

3) Rickets

ez

4) Scurvy

T

Correct Answer: Cholera

Candidate Answer: Marasmus
™

QID : 87 - In which of the following objects will the property of inertia be the largest?

fafafEa 3 © fohe avg o STea I e SaTeT gim?
Options:

1) Toy car
el AR
2) Motorcycle
Hiezarsahet

3) Car

R

4) Truck

&b

Correct Answer: Truck
b

Candidate Answer: Truck

&

QID : 88 - Which one of the following is not an example of Static Energy?

frfafea & @ & a1 Us fRfast w1t &1 Sareeor 781 82

Options:

1) Water in a bucket

Eicak:feici)

2) Stretched rubber band

T g g e

3) A balloon before it pops

T RT e & et

4) Moving car

TeTdt BR

Correct Answer: Moving car
Eard

Candidate Answer: Moving car
Eard

QID : 89 - What is "COBOL"?

"Rt T 82
Options:

1) A Virus

Teh UehR <l famog

2) An Extinct Species

Teh feregeet wrotrfal

3) A Computer Language

PR hI Geh AT

4) A Banking Process

ek difch ufshar

Correct Answer: A Computer Language
IR i Tk TS

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Which one of the following is formula of Blue Vitriol?

fafafea & o a1 ue Hiet 2o (s fafesier) & wamafaes g7 &2
Options:

1) CuSO

2) CuyS0

3) CuS0,

4) CuSOy4

Correct Answer: CuSOy4

Candidate Answer: CuSOy4
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QID : 91 - Which one of the following fibres is also known as cellulose regenerated fibre?

FrfafEa & § fond 30T (TISeR) Al Sel Gsifid 0T gl ST &1

Options:
1) Plastic
e

2) Acrylon

QishatT

3) Polymer

e R

4) Rayon

LeiE

Correct Answer: Rayon

Candidate Answer: Acrylon

QID : 92 - Which one of the following biosphere reserves of India is not included in the world network of bio-reserves?

fFafofea & @ ara o1 o a1 sEhimR Rerd fasy srehieR Rerd dead § e 78 &2

Options:
1) Manas
RIEES)

2) Nilgiri
HrafiR

3) Gulf of Mannar
TER F @t

4) Nanda Devi

et &t

Correct Answer: Manas
HEE

Qandidate Answer: Nanda Devi
T &at

QID : 93 - Development of 'Agriculture’ was on top priority in which of the following Five Year Plan?

HfY ot faema Ffaf@a d § forg daadfa gt i mruficarstt § e@ SR ar?

Options:
1) Eighth Five Year Plan
3T TS AT

2) Second Five Year Plan

IEGIERECLERISE

3) Third Five Year Plan
EECLIREISEI

4) Fourth Five Year Plan
g gaadg i

Correct Answer: Third Five Year Plan

Candidate Answer: Third Five Year Plan

CRIRREEL DRI
QID : 94 - Who among the following scientist invented the Dynamo?

SrIHI & TR Ffafea @ fona deaes A fomam?
Options:

1) Thomas Alva Edison

ATAE e

2) William Murdoch

faferam wefen

3) Michael Faraday

TTgehel there

4) Samuel Colt

Jq31e die

Correct Answer: Michael Faraday
AT RIS

Candidate Answer: Michael Faraday
ATEhd RIS

QID : 95 - Which game came back in the Olympics after 112 years?
fafafea 3 @ forg ge @a & siteifte & 112 auf & a1e amof g8 82
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Options:
1) Golf
e

2) Triathlon
TR

3) Pole vault
uidt dfee

4) Rugby
il

Correct Answer: Golf

Candidate Answer: Golf

QID : 96 - On which river bank is the famous monument 'Taj Mahal' situated?

TfRig TR 'dTeT 7gd’ fhg 78 & fR [ &2
Options:
1) Krishna

vl
2) Bhagirathi
qRfReA

3) Yamuna

Rkl
4) Brahmaputra

SR

Correct Answer: Yamuna
kel

Candidate Answer: Yamuna

ag

QID : 97 - Arjuna Award is given for

IS QRERR & forg fear smar 1
Options:

1) Exceptional service in emergency

STUTARI & STEROT

2) Exceptional service in slum dwellers

et fraTat & fog sremeRor dar

3) Outstanding performance in sports

# IpE ue
4) Bravery on battlefield

g & He # Tgigdt

Correct Answer: Outstanding performance in sports
T A IpE we

Candidate Answer: Outstanding performance in sports

T A IpE weE

QID : 98 - Which of the following books has been written by Vikram Seth?

Frafaed qeel & & @i < e few & 3 fordt &2
Options:

1) The God of Small of Things
g Tite 3T wret g

2) The Hypnotist

< fevifee

3) A Suitable Boy

3 geud g

4) Train to Pakistan

& g uTfeream

Correct Answer: A Suitable Boy
3 geaa drg

Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Which of the following countries committed to strengthen bilateral relations in the field of Agriculture with India in January 2017?

St 2017 & FefafEa 7 § forg 2 3 wRa & w1y FfY & & | fguelia Jdaf ot meieg o & forg ufdegar s 82
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ptions:

1) Germany

Srfft

2) France

W

3) Russia

&g

4) Israel

ESNES]

Correct Answer: Israel
ESNES]

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - What is the name of unicameral legislature of Bhutan?

e Y Yk Teia RemfiehT ot o A am?

Options:

1) Jatiya Sansad
ST T

2) National Assembly
A

3) Tshogdu

4) Legislative Council
faum

Correct Answer: Tshogdu

Candidate Answer: Jatiya Sansad
qqq
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